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Instructions:
E4AEA:
EHMA:

> Question number 1 to 20 are of short answer type.
E1E20EHREEE.
E1E20BHREEE.
> Each question carries 10 marks.
BRELE105,
BE 5107,

1)
A school is organizing a book fair. They have 40 math books and 60 science
books. They want to pack the books into boxes with the same number of each

type of book in each box. What is the greatest number of boxes they can pack

without having any books left over?


mac


—HEREEBH -—ER. tMBI0EHBENCOANES, MAETHELEE
AEERET K MEBERFTFEHRBENSES. FRGMTUANEFNRE
MBEXRERZD  EERE—AETHRBEBERTE?

b

—EEREEEN—FR. EINFI0ERKZHLENC0OERZES, MMNETELH

REEET MBI TFEHARHRENSHE, BRMBNTLANEFHSRE

MBEXRERZYD  EERE—ABTREEHBTE?

b

The sum of three consecutive integers is 57. Find these integers.
ZEEERHZANR57 , FREE=ER.
EMNERBYHZANRS7 , BREX=E.

Cindy saved $15 in the first month, $30 in the second month, $45 in the third
month, and so forth. The amount of money she saved in the last month was

$120. How much money did Cindy save in total?

ERE—@AFETHS, FE-_EAFETS0, E=EAFT45 , MItEEH, i
B#%—EAETSI20, BERMERLETSOT



BILE—NBETSI5, E=NAFETS30, E=NAFT$45 , kK H#,

WHE-—NMAETH20, BRKEHEFETZDT?

A number is added to 3. The sum is then multiplied by 5. When 8 is subtracted

from the product, the result is 12. What is this number?

E—EHFMLES , BEMZ MRS, BREHAECH  FRR12, BAXM
FRATE ?

=M EFMES , BEN2MFELS, HFFAMESE , ERE12, FEZH

Sarah scored 85% in her math test, 90% in her science test, and 88% in her
English test. If each test carries equal weight, what is Sarah's average

percentage score?

XEBEEHBEFMES % H , ERBEEFEMB0% D H , ERIXEFIE88
%D E. BNMBSEERNLERMSH A FHXEBNFHEILEIRTE?



ENEHFERIES %D , ERFEERIMEB0% D , FRIXE XSS

%W, BMEZEZNWLERMSH  FRXMUHNFEEILEIRMTL?

A coffee shop sold 120 cups of coffee on Monday. If this represents 30% of
their weekly sales, how many cups of coffee do they expect to sell in total for

the week?
—IEEEE 28— H 120 WEE, BEERER T XZMBEEI0%NEAHEEE
ZMNGE SRR E e € H 2 O sk 2

—UNGEEfE 23— SR H 120 MIBE, BREXAR T IZMBEE0%NHNZEAHEEER |

ZUNGEE TR % 2 & H 2 DAk 2

A factory produces 240 units of a product in 6 hours. At this rate, how many

units can it produce in 1 day?

—ITRHECNFEE2404RA, EMHEERT , FRAEIR-—RILESZ D4

R ?



— T #HONREF2404 KA, EMEEERT , HRXI —RA%E~Z 04

Rew?

What should be subtracted from 0.1 to get 0.03?
0.1 EEH H0.03?
FAMO0.1EEL1EH0.03?

A flight departs from New York at 3:00 PM local time and arrives in London at
7:00 AM the next day local time. If the time difference between New York and

London is 5 hours, how long is the flight?

—EAR A N 3R ARAY B RIMBINS 58 — RIS A B L 73R ER R -

HRBHVBFRE LEARAIRE/ NS, BRMEEZXR?

— TR B T 3R AL R AIMBIT 58 RS B 8 L7 [ -

EICERYBT B EEA LY IRE/N\BY B[ 2R 2R ?


Ada


10)

Sarah is making a fruit punch. She needs to mix 3/4 of a liter of orange juice
with 1.5 liters of apple juice and 2/5 of a liter of grape juice. How many liters

(in decimal) of fruit punch will she make in total?

SN EEREKTERT, twFEER 3/4 2FAURITE 1.5 Q2ABERITM 2/5
NAFBETES, WRASRESOLFH (LUPEBRT ) KREBE ?
SHPLEFEBIEKREBRE, wEER 34 AANRTE 1.5 2AFERITH 2/5
NAFBETES, BEHAKGES LR (LUMBRT ) KREBE ?

11)

Find the HCF of the smallest three digit number and the smallest four digit

number.
FERERIM=NENRDHEENR R LEE,
=gsAunh s QN OISR RS € RS N SRR RS TN PS5 ¢S



12)

A pyramid has a square base with each side measuring 5 cm and a height of
12 cm. Calculate the volume of the pyramid.
—EHENRBE-BRAERNELE K SER12EXK, FREZHEENE
%o

—MEENRBRE-LKAERNELE K SER12EK, HikHZ#ERE

o

13)

The area of a square is 100 cm?. If the sides of the square are increased by
25%, then what is the area of the new square?

—EAFEHNEBRI100FEFEX , BUOKEAFHNER EH25% , BEAFWES
FHEERZD?

—ERFEHNERR100FLEX , BROZERFNBKEA25% , BERIFHIER

FEHNERREZD ?



14)

If it takes 3600 seconds for a spaceship to travel from Earth to the Moon, how
many hours and minutes does the journey take?
—BAZMAEMIKEEASTFEE3CW , FRAEBEAAREERTZDNEND
=7

FE3600Y , BRIXAREZEA T Z DNt Mo

ot

—BAZMEEIKEE A

&7

15)
Calculate 0.7 + 0.08 + 0.009 + 0.0001 + 0.1987.
SE5tE0.7 + 0.08 + 0.009 + 0.0001 + 0.1987,

Eit&O0.7 + 0.08 + 0.009 + 0.0001 + 0.1987,

16)
Two friends, Amy and Bob, agree to meet at a coffee shop. Amy arrives at
3:00 PM and waits for 45 minutes. Bob arrives at 3:30 PM and waits for 20

minutes. How much time do they spend together at the coffee shop?



BEMRTREENEERR, BRETFHIE  YE/TH50H, BT
ETFF33055E , BEE 72098, BEMMESREEEEAMLERES 2

BERRTREENEERR, BEETFZANS , S T45568, #F

HETH3:30FE , #FRFT2008. FRMMNESARE AL TWEEESH ?

17)

A garden is in the shape of a rectangle with a length of 12 meters and a width
of 8 meters. It has a circular pond with a radius of 2 meters in the center.
Calculate the total area of the garden excluding the pond.
—RATEMHNERER12K , BERESK, REEAEERHL , ¥BARMK
B, FRHBRRE , A28 NER.

—KAFERNTEEKER12K |, [FER8XK, BEEANMETHLO , ¥BAFK

R, FHREBIEE , T2FEH , ER,

18)
Add the first three common multiples of 8 and 12 and find what least number

should be added to it so that it will become a multiple of 117?



ESF1I2HE=ELRFNE  BEKLEEM EAESREFEEBERA11096Z
22

ESHMI2NE=NREFILE , FRKDEEM LA BEEXBAN 1S

19)
How many one seventh are there in 50/7 ?
501822 EtH2— 7

507180 Ntpe2—7?

20)
Evaluate:
5HE
it#

END OF PAPER



